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Chapter 4 Review d
Section 4.1
Classify the triangle by its angles.
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Classify the triangle by its sides.
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7. Find the value of x and each side if the triangle is equilateral.
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* Find the measure of the rhissing anglés.

Section 4.2
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Find each measure.
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Section 4.3

Show that the polygons are congruent by identifying all congruent corresponding parts. Then write a

congruence statement.
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Find the values of the variables.

Sections 4.4 - 4.5
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2x+y =406

2x+35=190.6
2% = 55.6
X= 7.9

State the method — SSS, SAS, ASA, AAS or HL —in which the triangles can be proved congruent.
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Find the value of each variable.
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AXtAX+Y0 =180
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Section 4.6
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1.  Given: £S = LV, . 2. B D
! T is the midpoint of SV '

Prove: ARTS = AUTV e e S
" . V Given: CD bisects AE, AB || CD
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. s Prove: AABC = ACDE
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Given: £8 = 2U; TR bisects £STU. S Given: £1 = /2
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5.  Write a two column 1 proof. N
Given: NP = PM, NP 1. PL
Prove: ANPL = AMPL P L
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